MCRH %%

A

EEFEE T

AT
MCRH —S3 —16 —A —90S

| [ — —

| = = AR e
g mumm A EEAR wEA
ks 180: 180°

B MR AR 22% -

] BRI, S R R AR AR IR T L

N R AR R T 43 B TR B A [ 5

G AR RRR I, nRAC IR
(g IBRR ) SR AR 25 -

mindman
Hitg -
H5E MCRH
fEE A =C EEh
{5 A 228,
L R 0.25~0.7 MPa
L A& JTUER AL 0.1 ~0.7 MPa
i y=s 90 +10° , 180°+10° (1)
{EBIA 7S 0.05 mm
R AN EENAETR 180 c.p.m
JEIER +5C~+60C
TR ] A i ] 0.07~0.3 s/90° (at 0.5 MPa)(:x2)
RAFEERE R 0.014J
55 PR S i 50~200 mm/s
—— N P
R o ST RH (2%55%), RHN/RHP‘(S%,%Et)
He JTUERAL RHN/RHP(3i=t)
TR
AR RS S 7

LSS -

S0

RH X 1
-
n

fein

HIFRR /KT | BERTUS
RH LEER
RHN MEHEEE NPN
RHP IEREE; PNP

%1 Rl HE B R BE AR, R £5° MUY EEE)

2. R S PR P oy 2L R B T A 1Rl DA e S
WE R R R I B -

3 AR HIBI A2 Y-16H -

{E TR T

(AL KR SR T AE
RSN FEZE T8

s s B e |
WBETYEL T o R A -

mindman



MCRH MaelE®E ¢16

EEFEE T

MCRH-S3-16

TS ES
F: 5T )7

MCRH-S2-16

BNra

Fo B —JMHIHES

IMHERS
o
o
25 I I I —
Eljj-l M|= L
zZO = :0.6 MPa—|
= 15105
R o4 \ S
gw-o.s MCRH-S2-16  JMEFcH;
* 510.2 e
] 50
0 5 10 15 20 25 30 S 40 Ji% }7:0.6 MPa
HMEAIE L(mm) = a0l T
ST
¥ 20 —— L 04—
= 4 T T1T—+03
10 _ol_z
PR A 0 10 20 30 40 50 60
vtiva L(mm
F BT HMEALE  L(mm)
P HER

L
y MCRH-S2-16 RRACH:
MCRH-S3-16  [A{&AE: | BLESE
25 ¥ 17:0.6 MPa ] 50 JE7:0.6 l\lllPa
[
gzo 05— || 240 T |
= Wroa—— %0 ‘:\ °
i 1003 — £ 20 o
< 0.2 B < i — i
5 — 10 m—
02
0 5 10 15 20 25 30 0 10 20 30 40 50 60
IMEATE L(mm) HMELTE L(mm)

mindman
MCRH-Y-16
MCRH-Y-16
s 11
30 J 77:0.6 MPa+
225 z'j §
R 20 0.3
i 15 =
¥ 10 0.2 SN
5 0.1 \\Et
0 10 20 30 40 50 60
IMERIE  L(mm)
HREFFEGITERS

LB SRR R M IR o P R RIS Mg B (H)
AERE R BE T, 5K TR SRR BRG]

(eI R e PN 2

T

—
f| —K—
L]

SRR

MCRH-Y-16

c 50
E40
T30
15 20

2
_QL\'IO =

0 010203040506
) P(MPa)

mindman



MCRH-S3 5BRSF 616

EER A S mMindman

| 12 ﬁg
8 EE
5 o 29
0 )
~—
N [Fo] ©
. Ao
< o g s 1 >
<+ B $° . \
g o0 b/ . x
/ \
\ a
A3 D) el
4-M5x 0.8 X 8 33.6 340

6-M3Xx0.5X5 i

D47 50 M5 x 0.8
ST ARLERIL
225 PRIHIER o o
| M T 3-$477X6 % T
M5 x 0.8 96 TBHIBI:E 7L [Er LU E{ﬁvﬁ @ (=) L
o [s2]
2-69.5 Y7L 3 % I 0 « }
$5.5 5 I | 1 T
ﬂ{/ - o
3 \ w N @ A
gl o oo ) A e
bas ©
40 0 _1-
N~
@} \@j ° - 'l_ 4-M5x0.8X8 %
- - o
0 NS = (SR B )
2 LA =
] ] 3-49°x6x4 E N
A{L@ B (EME—)
2-M5x0.8
SRR AL

R: HIEERR & 25

19

Fany
A

22
12

25

A

1

' ® & 40
Al Bl
4-M5x 0.8 X 8 % 41

M mindman




MCRH-S2 %BRSF 616

EFFEL T

A
|
\Qj I [l
N
1®
B - = ke
| N4
‘ i ~
4-M5X0.8X8 I ltjl Lt
|31
B47 506 4-M5x0.5
8l (P 2 )
N ©
N~
¢/
— M5%0.8 ©
geE €
HEFRAL
M5 X 0.8 #&TU GRS L
2-$9.5 L3 % [ 71
$5.5 EHii / =
22.5 /
& < &) N
- AN $X\ f\ DY
A\ &J
40 ®
N~
ol lla  ®
||| &
2
A1l . BfLL
K 2-M5%0.8
S A HE SR AL

R: JHERE 25

19

] f
aan

him

4-M5x0.8 X8 %

041

mindman
28.6 (BAkKF)
14.6 (PHKF) 5810
]
0
3-¢ 400X 6 B
(=T &5 —)
1 I
1 [
I 1
’E;’ tm
ole
o 7@7 i J \
3 o | 29 | ©
1
(S RAFLAZ A S ART)
A -
(ZHHE S —)
&
L1
[ee]
S = = (|9 %
g Il [To) 76}
e (.
= © I © I
40 29
AfH] BiH|
mindman




MCRH-Y SBR~ 616

EER A S mindman
A
1
4-M3 X% 0.5
(FCPFI 2T
. | { | I —
~| o X
k L= =
- {a) A
41 7
4-M5x0.8 X8 % Ltj—l Lth
|31
$47 30 5
225 28.5 28
. N in
@
T |
e I
M5x08 2 l____/ A
STBRERAL & ¥ | 4 - ]
M5 x 0.8 4 TSI AL 340" X6 B
2-$9.5 JIFL 3 I 1 (zﬂiﬂ‘mi%—)A I
$5.5 £ - & I |
- N
\7\637 o [te}
N \ \@ & & Y ’t
sla |l s o D ela ] .
A\ -~
40 © -
N~
E} @2 ’ E 4-M5x0.8X 8 %
- . e
© NS (ARFLEER )
2 FUkid e =
™ ] +0.03 we ¥
3-4%"X6 X4 %
AL | B (EmiEE—)
K 2-M5%0.8
EEEER AL
1
R: JHER AR T 2%
g : 11
n | 1B A :
f L1 |7
‘ (6@ @ @ i ¢
fe
I—;%
2 - -
o & = (1% |
— | 0 ’E}
D - 5%
“: © Z © Z
oD | DY
4-M5x0.8x8 ¥ 041 40 29
Afl B{H]
mindman




	1_規格
	2_性能圖表
	3_S3 外觀尺寸
	4_S2 外觀尺寸
	5_Y 外觀尺寸

